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Pb = AB  4 
2 

Sb = AB 

Pb = AB + BC + CA 

Sb = 
BC  CA 

2 

 
 

Pb = AB  4 
 

  

Sb = 
AC  BD 

2 

 
   

Pb = AB + CD + 2BC 

( AB + CD )  DL 
Sb = 

2 

trapezio isoscele circoscritto 

 
 

Pb = 2  HK   
2 

Sb = HK   

 
 

 

Sl = 
Pb  VK 
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St = Sl + Sb 

 
 

 

V = 
Sb  VH 
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2Sl 

Pb 

Pb = 
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Sl = St − Sb 

Sb = St − Sl 
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Superficie totale = Sb1+Sl1+(Sb1-Sb2)+Sl2+Sb2 

 

Volume totale= V1+V2 

Superficie totale = Sb1+Sl1+(Sb1-Sb2)+Sl2+Sb2 

 

Volume totale= V1-V2 

Superficie totale = Sb1+Sl1+Sl2 

 

Volume totale= V1+V2 (se sovrapposto) 

Volume totale= V1 - V2 (se cavo) 

 
 


